
DWG STATUS
REVISION HISTORY

DATE STG N/P
AUTH APVD

2CHG
APVD

1
ZONE DR

REV

35229365
A1x4 1 OF 12:1 2 2 R -01

3
5
2
2
9
3
6
5

A         LINE DRAWN THROUGH A PART NUMBER 
INDICATES THAT PHYSICAL PARTS ARE NOT AVAILABLE 
FOR ORDERING.

PART NUMBERS THAT DO NOT HAVE A LINE PRESENT INDICATE
THAT PHYSICAL PARTS ARE AVAILABLE FOR ORDERING.

CONTACT APTIV SALES TO ASSURE AVAILABILITY
OF PARTS.

DWG TYPE

VOLUME (CM3)

STYLE

DISTR CODE

ALL DIMENSIONS ARE IN

UNLESS OTHERWISE SPECIFIED

REFERENCE

DO NOT
SCALE

USE MATH
DATA

THIS DOCUMENT IS IN ACCORDANCE WITH ASME
Y14.5-2009. SEE DELPHI ENGINEERING DESIGN
STANDARD B6 2017 FOR ISO 1101:2004
RECONCILIATION REQUIREMENTS.

THIRD ANGLE
PROJECTION

MILLIMETERS

29JN18 R 01 -- CREATED PART DRAWING 440273 SBA AM

PART DRAWING

SEE CHART D

FROM
TO

DIMENSIONAL RANGE (MM)

TOLERANCE UNLESS OTHERWISE SPECIFIED

CHART

ANGULAR TOLERANCE  

M
0
6

6
30

30
70

70
120

120
160

160
200

200
250

250
315

315
400

0.1 0.2 0.3 0.4 0.45 0.55 0.7 0.85 1.05
1

ASSEMBLY EXPLODED VIEW

NOTES:

  1.  UNLESS OTHERWISE SPECIFIED AND/OR INDICATED:      

        DIMENSIONS ARE TO FACE OF VIEW SHOWN AND 
        AUTOMATICALLY ROUNDED BY COMPUTER FOR INSPECTION
        (SEE MATH MODEL FOR PRECISE DIMENSIONS). FOR ALL 
        OTHER DIMENSIONS NOT SHOWN BUT REQUIRED FOR TOOL
        BUILD, SEE MATH MODEL FOR PRECISE TOOL PATH DATA.
        UNDEFINED DRAFT ANGLE SHOULD BE IN DIMENSION TOLERANCE
        LOCK FEATURE ARE IDENTICAL
        MAX. BURR 0.05MM, ALL NOT MARKED RADIUS ARE 0.3 MAX.,
        ALL NOT MARKED CHAMFER ARE 0.2 MAX..

  2.  MATING CONNECTOR DRAWING: 35233086-DWG01-S01.
         
  3.  BUSHING RETENTION FORCE FROM HOUSING IS 40N MIN.
      SHIELDING RETENTION FORCE WHOLELY FROM HOUSING IS 100N MIN.
      TERMINAL RETENTION FORCE FROM HOUSING IS 600N MIN.
      TERMINAL SCREW TORQUE IS 9±0.9NM.
      CAP RETENTION FORCE IS 50N MIN.   

  4.  WORKING VOLTAGE MAX. 1000V DC(5500M ASL,
      POLLUTION DEGREE II ACC. TO DIN EN 60664-1,01/2008)

  5.  SUBJECT TO TECHNICAL CHANGES,
      APTIV DOESN'T COMPENSATE FOR FOLLOW-UP-COST
      DUE TO TECHNICAL CHANGES.

2

1

3

5

66

78

99
.1

30

15

0.
48

CONNECTOR 

A A

SECTION A-A

4

23.2

MALE HVIL TERMINAL 
WAY OF DISPLACEMENT

POS PART-NO. REV DESCRIPTION QTY. MATERIAL COLOR / PLATING REF.
WEIGHT(G)

A 35210644 01 HEADER HOUSING ASSEMBLY, CODE A -- -- --

114.5

1 35210646 -- OUTER HOUSING, CODE A 1 POLYAMIDE BLEND ORANGE

2 35210648 -- MALE SHIELDING 2 COPPER ALLOY --

3 35210649 -- INTERFACIAL SEAL 1 RUBBER GREEN

4 35210652 -- MALE TERMINAL ASSEMBLY 2 -- --

5 35210653 -- TERMINAL CAP 2 POLYAMIDE BLEND BLACK

6 33351472 -- BUSHING - 5 MM 4 STEEL --

7 35210650 -- M6 NUT 1 STEEL --

8 35302165 -- TPA 2 POLYAMIDE BLEND BLACK

B 35210645 01 HEADER HOUSING ASSEMBLY, CODE B -- -- --

114.5

1 35210647 -- OUTER HOUSING, CODE B 1 POLYAMIDE BLEND ORANGE

2 35210648 -- MALE SHIELDING 2 COPPER ALLOY --

3 35210649 -- INTERFACIAL SEAL 1 RUBBER GREEN

4 35210652 -- MALE TERMINAL ASSEMBLY 2 -- --

5 35210653 -- TERMINAL CAP 2 POLYAMIDE BLEND BLACK

6 33351472 -- BUSHING - 5 MM 4 STEEL --

7 35210650 -- M6 NUT 1 STEEL --

8 35302165 -- TPA 2 POLYAMIDE BLEND BLACK

C 35388490 01 HEADER HOUSING ASSEMBLY, CODE D -- -- --

114.5

1 35308375 -- OUTER HOUSING, CODE C 1 POLYAMIDE BLEND ORANGE

2 35210648 -- MALE SHIELDING 2 COPPER ALLOY --

3 35210649 -- INTERFACIAL SEAL 1 RUBBER GREEN

4 35210652 -- MALE TERMINAL ASSEMBLY 2 -- --

5 35210653 -- TERMINAL CAP 2 POLYAMIDE BLEND BLACK

6 33351472 -- BUSHING - 5 MM 4 STEEL --

7 35210650 -- M6 NUT 1 STEEL --

8 35302165 -- TPA 2 POLYAMIDE BLEND BLACK

D 35388491 01 HEADER HOUSING ASSEMBLY, CODE D -- -- --

114.5

1 35308376 -- OUTER HOUSING, CODE D 1 POLYAMIDE BLEND ORANGE

2 35210648 -- MALE SHIELDING 2 COPPER ALLOY --

3 35210649 -- INTERFACIAL SEAL 1 RUBBER GREEN

4 35210652 -- MALE TERMINAL ASSEMBLY 2 -- --

5 35210653 -- TERMINAL CAP 2 POLYAMIDE BLEND BLACK

6 33351472 -- BUSHING - 5 MM 4 STEEL --

7 35210650 -- M6 NUT 1 STEEL --

8 35302165 -- TPA 2 POLYAMIDE BLEND BLACK 6

THESE AREAS MUST BE FREE OF DEFECTS,
PARTING LINES, MOLD MISMATCH, DRAFT AND
KNIT LINES FOR SEALING.

19.5 0.2

17
.7

5
0.

2

64

52
4.6

N/P

DATE

APVD2

APVD3

DRAWING NAME

STG

DRAWING NUMBER

OF

MATERIAL

REV

DR

FRAME NO

APVD1

APVD5

SIZE SCALE SHEET NO

APVD4

TAXI ASM CONN   H/P   

35229365
A1x4 1 OF 12:1 1 2

BERLIN ANAND S 29JN18
ARTHUR MA 29JN18
TIMON YU 29JN18

SEE DRAWINGS

R -01

Chennai, India

SUBSTANCES OF CONCERN AND RECYCLED
CONTENT PER APTIV 10949001

CONNECTION SYSTEMS

COPYRIGHT      APTIV. ALL RIGHTS RESERVED.

THIS DRAWING IS THE PROPERTY OF APTIV AND CONTAINS APTIV
CONFIDENTIAL INFORMATION. THE REPRODUCTION, DISTRIBUTION AND

UTILIZATION OF THIS DOCUMENT OR ITS RELATED CAD MATH DATA, AS WELL
AS COMMUNICATION OF ANY CONTENT TO OTHERS, WITHOUT EXPRESS

AUTHORIZATION, IS PROHIBITED.

2018

PROCESS SENSITIVE DIMENSION

DIMENSIONS ENCLOSED IN   INDICATE
REFERENCE DIMENSIONS AND NO TOLERANCE
LIMITS ARE ESTABLISHED

27

10
0.

1

28.5 0.1

10
0.

1

28.5 0.1

THESE AREAS MUST BE FREE OF DEFECTS,
PARTING LINES, MOLD MISMATCH, DRAFT AND
KNIT LINES FOR SEALING.

8

7

CODE A - 35210644

CODE B - 35210645

CODE C - 35388490

CODE D - 35388491

17
.7

5
0.

2

19.5 0.2

17
.7

5
0.

2

23.7 0.2

23.7 0.2

17
.7

5
0.

2

28.5 0.1

10
0.

1

10
0.

1
10

0.
1

10
0.

1

10
0.

1

10
0.

1

28.5 0.1 28.5 0.1

28.5 0.1 28.5 0.1

28.5 0.1

3

A

 

M

5

G

31

B

27

STG

24

A

111

10

C

4

L

H

1632

SHEET NO

9

16

L

1

62025 21

C

2

 

D

SCALE

23

N/P

26 8

B

12

514

E

K

REV

OF
FRAME NO

23

F

22

27

D

G

6

4

 

1319

31 30

SIZE

20 8

15

J

12

11

M

17 13

18

14

29

 

22

29

DRAWING NUMBER

21

10

25 19

F

E

K

18 2

9 31724

H

7

30

15

32 7

28 26

28

J

1

2

3

4

5

6

7

8

9

10

1
1

12

1
3

1415

1
6

17

1
8

1
9

20

21

2
2

23

2
4

25

2
6

27

2
8

29

30

30

SYMBOL DEFINITION

LAST NO.
USED    

TOTAL NO OF
INSPECTIONS
REQUIRED 30

A DIMENSION WITHOUT AN INSPECTION REPORT SYMBOL
    DOES NOT REQUIRE INSPECTION.  IT MAY BE
CONTROLLED ON THE INDIVIDUAL COMPONENT DRAWING.

MISSING SYMBOLS
NO MISSING

SYMBOL NUMBER

U
s
e

r:
 l
z
8
k
ry

P
a
rt

: 
3
5
2
2
9
3
6
5
-C

U
S

0
1
-S

0
1
/0

1
 
 
 D

a
te

: 
1
6
-S

e
p
-1

9
 
 
 T

im
e

: 
1
9
:1

9
:4

6
 
 
 

lz
8
k
ry

,0
9
1
6
2
0
1
9
,1

9
:1

8
,f
a
il
,c

u
s



Mouser Electronics
  

Authorized Distributor
 
  

Click to View Pricing, Inventory, Delivery & Lifecycle Information:
 
 
 
 Aptiv:   

  35210644

https://www.mouser.com/aptiv
https://www.mouser.com/access/?pn=35210644

